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PART A: LANGUAGE SCIENCE
(Mark the booklet code ‘B’ in the OMR sheet)

1. Which of the following languages are official languages in Tamil Nadu?
A. English
B. Tamil

(A) Only (i)

(B) Both (i) and (i1)
(C) Only (ii)

(D) None of the above

2. The abbreviation OCR stands for
(A) Optical Code Recognizer (B) Optical Cable Receiver
(C) Open Character Recogniser (D) Optical Character Recognizer

3. Bankim Chandra Chatterjee is the author of the famous book
(A) AnandaMath ' \
(B) Gitanjali
(C) Devdas
(D) Ashtadhyayi

4. In computer terminology what does jpeg mean?
(A) Joint Photo Exchange Goals
(B) Joined Picture Enlargement Graphics
(C) Joint Photographic Experts Group
(D) Justified Pictorial Emphasis Growth

5. Pick the odd member out from the following set:
(A) Noun
(B) Verb
(C) Metaphor
(D) Adjective

6. In the following set of sentences, choose the pair that logically relates to the statement given:
If he takes good medicine, he will get well.
A. He talks to the doctor.
B. He will not need medicine.
C. He will get well.
D. He takes medicine.
(A) AB (B) DC (C)BA (D) AD



7. In the parts of India Konkani is spoken.
(A) Northern
(B) Eastern
(C) Southern
(D) Western

8. Marathi and Nepali belong to the Language Family.
(A) Indo-Aryan
(B) Tibeto Burman
(C) Austro Asiatic
(D) Dravidian

9. The grammatical categories of ‘Nominative, Accusative and Genitive’ belong to
(A) Number System
(B) Gender System
(C) Case System
(D) Person System

10. was sanctioned the status of a ‘Classical Language’ in India in 2014.
(A) Tamil
(B) Odia
(C) Sanskrit
(D) Telugu

11. A book or document written by hand rather than typed or printed is a

(A) Inscript

(B) Postscript

(C) Manuscript

(D) festschrift .

12. Tolkappiyam is a
(A) Novel
(B) Grammar text
(C) Epic
(D) Musical text

13. Urdu is one of the two official languages of which of the following states?
(A) Telangana
(B) Andhra Pradesh
(C) Jammu & Kashmir
(D) Madhya Pradesh
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14. In a computer keyboard, the first character of a proper noun can be typed by using
(A) Backspace Key
(B) NumLock Key
(C) Shift Key
(D) CapsLock Key

15. The ‘Three Language Formula’ in India is formulated to be implemented in the domain of

(A) Education

(B) Judiciary

(C) Administration

(D) Trade and Commerce.

16. A ‘biopic’ isa
(A) biological picture
(B) biographical film
(C) autobiographical film
(D) Adapted film

17. In “A forest has trees”, the relation between the two noun phrases ‘forest’ and ‘trees’ is that
of

(A) Synonymy

(B) Portion-Mass

(C) Member-Collection

(D) Metonymy

18. Indicate whether each of the following sentence pairs expresses same or different
statements.
A. i. John saw Mary with binoculars.
ii. Mary had binoculars in her hand.

‘B. i. The hunter shot the elephant in his pajamas.
ii. The elephant was wearing the hunter’s pajamas.

(A) A makes same statements

(B) Both A and B make different statements

(C) Both A and B have an ambiguous statement in (i).
(D) B makes same statements

19. Words like ‘Aiyyo’, ‘Arerrey’ etc which indicate people’s attitudes, mood etc are called

(A) Interrogatives.
(B) Exclamatories.
(C) Attributives.
(D) Conjunction.
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20. Which of the following is not a script used for Indian languages?
(A) Thaana
(B) Gurumukhi
(C)Both Aand B
(D) Neither A nor B

21. Panini's AstadhyayT has chapters.
(A) Four
(B) Six
(C) Twelve
(D) Eight

22. Since Patafijali, Apabhramsa is a term used to identify spoken languages such as
(A) Urdu and Persian
(B) Tamil and Malayalam
(C) Prakrit and Pali
(D) Manipuri and Mizo

23. A ‘pickpocket’ can mean
i. A kind of pocket.
ii. A person who steals from the pocket.

(A)Bothi & ii
{B) Neither i nor 11
(C) Only 1

(D) Only 11

24. What “Siri’, ‘Cortana’, ‘Alexa’ and so on have in common is
(A) Product Recognition
(B) Speech Recognition
(C) Face Recognition
(D) Text Recognition

25. The first state to be formed based on the Linguistic Reorganization of States Act is

(A) Arunachal Pradesh
(B) Assam

(C) Andhra Pradesh
(D) Tamil Nadu

26. “May I leave” is a
(A) request
(B) permission
(C) command
(D) question
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27. When you try to produce the sound /f/ which one of the following statements is true of it’s
production?

(A) Upper teeth and the lower lip.

(B) Both the lips are involved

(C) Both the teeth are involved

(D) Upper lip and the lower teeth.

28. In traditional grammar, verbs like ‘will’, ‘can’, ‘shall’, ‘is’ etc., in English are called
(A) Main Verbs
(B) Auxiliary Verbs
(C) Compound Verbs
(D) Phrasal Verbs

| 29. The mobile texting messages like ‘me 2°, ‘c U’ etc., are replacements at the level of

(A) Sound
(B) vowel sounds
(C) Words
(D) Orgthography

Consider the following data from Mandarin Chinese and answer the questions from 31 to 40.

dingdéng - ‘top light’ youzhi ‘oil paper’
dianché ‘street car, tram’ feij1 ‘aeroplane’
diandéng ‘electric lamp’ yuyou ‘fish oil’
dianjt ‘electrical machine’ huayuan ‘flower garden
shuiché ‘water cart’ dianli ‘electric power’
youdeéng ‘oil lamp’ zhthua ‘paper flower’
shuili ‘waterpower’ weéideng ‘tail light’
30. The Mandarin Chinese word corresponding to ‘paper’ is

(A) dia

(B) hua

(C) you

(D) zhi
31. The Mandarin Chinese word corresponding to ‘light’/lamp’ is

(A) deng

(B) you

(C) dian

(D) ding



32. The Mandarin Chinese word corresponding to ‘garden’ is
(A) yuan
(B) déng
(C) hua
(D) you

33. The Mandarin Chinese word corresponding to ‘electric is
(A) deng
(B) dian
(C) shui
(D) hua

34, The Mandarin Chinese word corresponding to ‘oil’ is
(A) ya.
(B) you
(C) hua
(D) fei

35. The Mandarin Chinese word corresponding to ‘cart’/ ‘car’ is
(A) che
(B) anche
(C) iche
(D) fei

36. The Mandarin Chinese word corresponding to ‘fish’ is
(A) yiyo
(B) you
(C) yu
(D) yuan

37. The Mandarin Chinese word corresponding to ‘flower’ is
(A) he
(B) zhi
(C) hi
(D) hua

38. The Mandarin Chinese word corresponding to ‘power’ is
(A) uili
B) 1
(C) anli
(D) anj1
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Part—A - TELUGU
(Mark the Booklet Code C in the OMR sheet)
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Part-B

41. Amy has gone away. She will be away ............ next Saturday.
(A)since
(B) until
(C)upon
(D)by

42, Had I known about your visit to this city, T ............ met you.
(A)would have
(B) have had
(C) will have
(D) would had

43, What are you doing this evening?
| TP my school friends.
{A)ymeet
(B) meeting
(C)am meeting
(D) will meeting

44. Which of the following is the correct sentence?
{A)Neither of theatres we went to were good
(B) Neither of the theatres we went to were good.
(C) Neither of the theatres we went were good.
(D) Neither of theatres we went were good.

45, Are these the books that ... ?
(A)yours looking?
(B) vours looking for?
(C)you were looking?
(D)your were looking for?

Find out the correct meanings of the underlined words in the given text.

Hernando de Soto, the Spanish governor of Cuba, was the first white man to reach the
banks of the Mississippi. On 3 June 1539 he landed with 730 men and 237 horses at
Tampa Bay in Florida. He took possession (46) of the arca in the name of the King of
Spain, and marched in land in search of gold and rubies. His compatriots Coronado
and Alvarez de Pineda had already penetrated (47) the mysterious North American
continent. The former, starting from Mexico, travelled across part of the south-west in
a vain (48) attempt to discover the seven mythical cities of Cibola; the latter explored
the gulf, landing in Texas. Members of these expeditions (49) had brought back
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rumours of fabulous treasure, and de Soto, who had taken part in the conquest of
Perus, believed the undiscovered lands beyond Florida to be a new Eldorado of

incredible (50) wealth.
(From Miller, A. (Ed.) The Mississippi, as cited in Grellet, F. 1981, p. 137)

46. (A) the state of having, owning, or controlling something

(B) the act of dedicating something to a powerful ruler
(C) the act of trespassing area owned by enemy people
(D) the state of transferring the power of control to others

47. (A) finding something that is mysterious for human understanding

(B) occupying a place rightfully in the name of a powerful king
(C) go into or through something especially with force or effort
(D) entering a new place out of a zeal for adventure

48. (A) straight forward

(B) degrading
(C) useless
(D) profitable

49. (A) plundering an enemy country by a group of warriors

50.

(B) a group of adventurous people

~ (C) robbing a new place by a group of robbers

(D) a journey undertaken with a particular purpose

(A) unbelievable
(B) unmanageable
(C) uncontrollable
(D) unbearable

Read the following paragraph and answer the questions that follow.

Of all the many factors which contributed to the Industrial Revolution, the most
revolutionary and the most impressive was not coal but steam-power. J. L. and
Barbara Hammond said that steam-power ‘declared the triumph of industry and the
glory of man’. From clumsy and inefficient beginnings it was quickly improved to
open up tremendous possibilities for industrial progress. The limitations of muscle-
power are obvious, and though water had served well to work bellows and hammets
in iron works, or to turn machinery like the water-frame and the mule in the textile
industry, it could only be applied in a limited way in Britain. For water-power is most
useful in a land with many fast-flowing streams and, apart from areas like the
Pennines, Scotland, and Wales, this country’s rivers flow slowly. The Alpine area of
Europe, and much of the United States relied on water-power for much longer than
Britain, and hydro-electricity has brought water back into its own in many parts of the
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world. The geographical imitations of Britain’s water-power, however, necessitated
finding an alternative solution to the problem.

(From Dawson, K. The Industrial Revolution, as cited in Grellet, F. 1981, p. 156)

51. Which of the following statement/s is/are true?
A. The only factor that contributed to the Industrial Revolution was coal
B. There were many impressive factors which most contributed to the Industrial
Revolution.
C. Steam-power was the most impressive factor that contributed to the Industrial
Revolution.
D. Both coal and steam-power contributed equally to the Industrial Revolution in a
major way.
(A)Both Aand C
(B) Neither A nor C
(C)Only A
(D)Only C

52. Which of the following statements are true according to the passage?
A. At the beginning, the performance of coal was efficient.
B. Steam-power provided good opportunities for progress in industry.
C. The human muscle-power has limitations in Britain.
. D. The applications of water-power were limited in Britain.
(A)A&B
(B)B&C
(CO)B&D
(D)C&D

53, “It’ in the third sentence of the paragraph refers to
(A)coal
(B) steam-power
(C) industrial revelation
(D) industry

54. ‘bellows’ is a/an
(A)scientific discovery
(B) apparatus
(C) energy generating fuel
(D)mathematical formula



55. The main theme of the paragraph is
(A) Industrial Revolution in Britain
(B) scientific discoveries
(C) steam power
(D) efficiency of coal and steam-power

56. Find the meaning of the underlined phrase.

The Director hit the nail on the head when he proposed the closure of the company.
(A)to describe the exact situation or problem
(B) to picture the future condition
(C) to criticize vehemently
(D)to punish somebody

57. Choose a meaningful sentence,

A. Every West German citizen to his government, by a twelve-digit number, nine
years ahead of Orwellian projections, by 1975, may be officially known.

B. Nine years ahead by 19750f Orwellian projections, to his government by a twelve-
digit number, every West German citizen may be officially known.

C. By atwelve-digit number, by 1975, may be officially known to his government,
every West German citizen, nine years ahead of Orwellian projections.

D. By 1975, nine years ahead of Orwellian projections, every West German citizen
may be officially known to his government by a twelve-digit number.
(AYA
(B)B
) C
(D)D

58. Beginning to learn how to write a story is something not to be afraid ............... .
(A)with
(B)of
{C)out
(D)by

59. Find out the part of sentence which has an error.

He demonstrates a Western sensibility only in his personal lifestyle, but also in his

1 2
rationalism. his political vision and his support for concepts of equal opportunity and
3 4

affirmative action.

(Mukhergee, A. K. 2013, p. 298)



(A1
(B)2
(€3
(D)4

60. Fill in the blank choosing the correct term.
Her tiny, cute kitten loves to sleep IMERES cevervrninnenninans blanket.

(A)beautiful woolen orange
(B)orange beautiful woolen
(C) woolen beautiful orange
(D) beautiful orange woolen

61. Fill in the blank with the correct word.

Workers were terminated because of losses in business. This .................... was
challenged legally by some the workers.

(A)terminate
(B) terminator
(C) termination
(D)terminated

62. Many accidents ...........cocoennne caused by careless driving.
(A)are
(B) have
(C)is
(Dywill

63. Which of the following is the correct sentence?

I have been writing this assignment since yesterday morning.
1 am writing this assignment since yesterday morning.

I have been writing this assignment from yesterday morning.
I am writing this assignment from yesterday morning.

(A)A

(B)B

(©)C

(D

90w



64. Find the incorrect sentence.
(A)He used to smoke 25 cigarettes per day
(B) She used to cook early in the momning this month.
(C) The boy used to go to school by an autorikshaw.
(D)As a child T used to play with a toy train.

65. Find out the correct form of the question.

Your friend looks soaked walking in the rain.
Y OU SKT 4 reraiininranrtrinteirneinirrrasaiaiaan e .
(A)Have you been walking in the rain?
(B)Has you been walking in the rain?
(C)Have been walking?
(D)Have you walking in the rain?

66. Find the odd one.
(A)Preplan
(B) Predetermine
(C) Preexist
(D) Prepare

67. Find the odd one.
"(A)Domination-superiority
(B) Demand-supply
(C) Command-rule
(D)Oppression-tyranny

68, Find the incorrect one.
(A)She is a patient, isn’t she?
(B) You work in a hospital, don’t you?
(C) They haven’t met him, haven’t they?
(D) They have left for a vacation, haven’t they?

9L



69. Find out the sentence with correct punctuation.

(A)Life is full of stress. For instance a mother who is about to give birth to a child
a boy during his first day at school, a young man going for an interview, a
student appearing for an examination and young people getting married, are all
under stress. 7

(B) Life is full of stress. For instance, a mother who is about to give birth to a
child a boy during his first day at school a young man going for an interview a
student appearing for an examination and young people getting married, are all
under stress.

(C) Life is full of stress For instance, a mother who is about to give birth to a
child, a boy during his first day at school a young man going for an interview,
a student appearing for an examination and young people getting married are
all under stress.

(D)Life is full of stress. For instance, a mother who is about to give birthto a
child, a boy during his first day at school, a young man going for an interview,
a student appearing for an examination and young people getting married, are
all under stress.

70. The correct sentences in pair A and pair B are

A. 1. The living room has a big window, which keeps the room cool.
2. The living room has a big window, what keeps the room cool.
B. 1. She has two brothers which are older than her,
2. She has two brothers who are older than her.
(AYA.landB. 1
(B)A land B.2
(C)A.2and B. 1
(D)A.2and B. 2

71. Find the incorrect usage of the word everyday.
(A) I speak to my father on phone almost everyday.
(B) We don’t buy objects which are not useful in everyday life.
(C) He likes to paint pictures of everyday objects.
(D) This movie effectively portrayed the everyday lives of ordinary Russians.

72. Find incorrectly spelt word.
(A)Possession
(B) Concession
(C) Cecsation
(D)Precision



73. Find the sentence with improper article usage.

(A)I hope I didn’t write a wrong answer in the examination.
(B)I like to keep cvery object in the house in the right place.

(C) The pen you were searching for is on a table.
(D) The next step is to add sugar.

74. Find the incorrect word.
(A)Glorification
(B) Globalization
(C) Gratification
(D) Grandification

75. Fill in the blank choosing an appropriate word.

The throw-away spirit or the spiritof .....................0
American life and consumption only keeps rising.
{A)wastefulness
(B) wastage
(C) waste
(D)wastageness

Ly R

has become part of



76.

71.

78.

79.

80.

81.

82.

83.

84.

85.

86.

Part-C
In which vear did the Jallianwala Bagh Massacre take place :
(A) 1919 (B) 1920
(C) 1929 (D) 1930
The full form of ATM is :
(A) Automatic Time Machine (B) Automated Teller Machine
(C) Any time money (D) Automatic Teller Machine
The full form of Wi-Fi is:
(A) wireless fidelity (B) wireless facility
(C) wireless Internet (D) wireless connection
The full form of GST is :
(A) Goods Service Tax (B) Good Service Tax
(C) Goods and Services Tax (D) Government Service Tax
The General Election 2019 was held for constituencies.
(A) 543 (B) 550
(C) 544 (D) 540
What is the common name of Sodium chloride ?
(A) Baking Power (B) Bleaching Power
(C) Common salt (D) Caustic Soda
What is the measurement unit of Power (Electrical Parameter) ?
(A) Volt (B) Watt
(C) Ohm (D) Ampere
Who is the famous singer who has been awarded ‘Bharat Ratna’ this year (2019)?
(A) Manna Dey (B) Bhupen Hazarika
(C) Asha Bhosle (D) Lata Mangeskar
Which of the following country’s President attended the 2019 Republic Day as the chief
guest 7
(A) Thailand (B) Malaysia
(C) South Africa (D) Japan
The first Indian state to implement 10% quota for economically poor in the general
category :
(A) Gujarat (B) Punjab
(C) Bihar ' (D) Maharashtra
In which state was India’s longest single-lane steel cable suspension bridge constructed ?
{A) Assam : (B) Mizoram
(C) Meghalaya (D) Arunachal Pradesh

~ 97 —



87.

88.

89.

90.

91.

92.

93.

94.

9s.

96.

97.

T-4

In which of the following states was it decided to exit from the Central Government’s
ambitious ‘Ayushman Bharat — Pradhan Mantri Jan Aarogya Yojana’ ?

(A) Karnataka (B) West Bengal

(C) Jammu - Kashmir (D) Rajasthan

Dada Saheb Palke award for 2017 has been conferred on :

(A) Vinod Khanna (B) Ranikanth

(C) Amitabh Bachchan (D) Kamal Hasan

What is the capital city of Lakshadweep?

(A) Daman (B) Kavaratti

(C) Minicoy (D) Kalpeni

The author of ‘Jungle Book’ is

(A) Ruskin Bond (B) R.X. Laxman

(C) Rudyard Kipling (D) Rabindranath Tagore
The full form of CCTV is

(A) Closely covering Television (B) Closed Circuit Television
(C) Clear camera Television (D) Closed camera Television

Which ocean is named after a country ?

(A) Arabian Ocean (B) Antarctic Ocean
(C) Pacific Ocean (D) Indian Ocean
The World Yoga Day is observed on

(A) 20" June (B) 22™ June

(C) 215 June (D) 23" June

The headquarters of Word Heath Organisation is located at
(A) New York (B) Rome

(C) Paris (D) London

The first indian woman to become an IPS officer is

(A) Meera Borwankar (B) Vimla Mehra
(C) Kiran Bedi (D) Archana Ramasundaram

The first Indian to win medals consistently in two consecutive the Olympics of 2008
and 2012 is

(A) Sania Mirza (B) Sunil Kumar
(C) Leander Paes (D) Ashish Kumar
Kabaddi is the national sport of

(A) Bangladesh (B) Pakistan

(C) India (D) Japan

— 28 =



98.

99.

100.

Which team scored the highest runs (278 runs) in T20 international cricket ?

(A) Australia (B) India

(C) Afghanistan (D) England

The first Indian woman to win an Olympic silver medal is

(A) Saina Nehwal (B) Karnam Malleswari

(C) Mary Kom (D) P V Sindhu

How many teams are participating in ICC Cricket World Cup 2019 ?
(A) 10 (B) 14

(C) 12 : D) 15

—2 93—
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